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Hibe=—n% ¢300 (8FIKE) i= 500 % n=0.010
= 1fn R X412 A = 0.0606
1/0.010 X 0.0913 #* X 0.050 2 P = 0.6643
= 4.5338 m/sec R = 0.0913

0.2747 nf/sec >

= A XV
= 0.0606 X 4,5338
0.2747 nt/sec
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HEKE 62633 nf/sec
0. 2600
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Q = 1/360 X f X A X r (m¥/sec)
Q = 1/360X0.7X27X34,00 =
1/360X0.8X27X 1.90 =

= 1/360X0.9X27X 0.67 =

1. 7850 mi/sec
0. 1140 mi'/sec
0. 0452 m/sec

Tl GEFUN)

3miE=a 7 U — bR (8FIKE)

VvV =

W=1500
i =0.145 %

1/n X R¥®x iV
= 1/0.020 X 0.4803 ** X 0.00145 *
1. 1677 m/sec

A X V
1.7000 X 1.1677
1.9851 nf/sec
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Il

1.9851 m'/sec > ®REHMIHE 1.9442 of /sec
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Q = FHHEfEAKEEE  m/sec

f = MHFRE 0. 7 (L1 #h)
0. 8 (i jth)
0. 9 (BAZE Hh)

r = YRR REE 27 mm(1/1)

A = Wikl ha

H=1250

n=0.020 (=27 U—bALKE)

A = 1.7000
P = 3.5396
R = 0.4803
\
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Q =1/360 X f X A X ¢ (mn¥/sec)

H£AEKA Q = 1/360 X 0.9 X 0.1889 X 100

#£AKIEB Q = 1/360 X 0.9 X =36 X 100 =
01347

£AEBRC Q= 1/360° X 0.9 X &=8586 X 100
0.3214
6. 00

b

FEREFEE 100 mm,/ hr

0.0472

o /sec

8=0359 n’/sec

0. 0344

0=079% nf/sec

0. 0804

1 FHEKE HBEE o150 (8FIKE 1= 697 % n=0.010

Vv =

/ 2/3 = 12
1/n X R X1 0. 0600 |
1/0.010 X 0.0456 ** X 6=059% "
8=H86 m/sec
3. 1265
A XV 3 1965
0,0152 X S=H86

60474 7 /sec
0.0475

60474 mf/sec > BEXFIUGILE  0.0472 nf/sec

2 5HEKE MHUEE ¢ 150 (8FIAEE) i

NV =

1/n X R2/3 >< il,"z 0 (]1{‘%1
1/0.010 X 0.0456 *° X 0=086%
425 m/sec

9. 6590

A XV 9 6590

0.0152 X o485+

6=0%69 nt/sec
0. 0404
0. 0344

06369 ' /sec > HEHWMHE 6=0359 n'/sec
0. 0404 £ 4K K% B

o >

A

4. 34
3=6% % n=0.010

-

= 0.0152

0.3321
0. 0456
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= 0.0152
= 0.3321

0. 0456
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3. 94
3EHEKE HMEB 6200 (SHEIKE) i= 4+ % n=0.010

V= 1/n X R"xXi" 0. 0394 A = 0.0269
1/0.010 X 0.0608 ** X &=642 * P 0. 4429

8=¥385 m/sec R = 0.0608
3.0691

I
I

Q= A XV 3560
0.0269 X 31385

= 60842 nf/sec
0. 0826

0. 0344 0. 0816
6=084¢ nf/sec > FXEFWHIE 0.0472 + 0=0369 = 6=083F ni/sec - - + OK 4 FHiAE~

e SRR A + HEAKKIEB

1. 29
4 ZHKE HBEE 0250 (8HEAE) i= =26 % n=0.010

V = 1/n X R¥X i 0. 0129 A = 0.0421
= 1/0.010 X 0.0761 ** X 6=6325 '* P = 0.5536
= 20078 m/sec R = 0.0761

2. 0396

Q= A XV 40
0.0421 X 2-0078

= 70845 nf/sec
0. 0859

0. 0344 0.0816
070845 of /scc > EREFFEHIEL 0.0472 + 0:-0869 = 0=083F nf/sec + - - OK KK~
0. 0859

5. 05

55HEKE HEE 6200 (8FAE) i= 468 % n=0.010

— 2/3 : 1/2 —
V = 1/n X R X i 0. 0505 A = 0.0269

1/0.010 X 0.0608 ** X 6=6463 P = 0.4429

3=832%Ff m/sec R = 0.0608
3. 4747

Il

Q= AXV 3447
= 0.0269 X 3-397%

66895 n'/sec
0. 09356
0. 0804

60895 nf/sec > EREMAHE 0=0797 r/sec -+ + + OK £Kit~
0. 0935 A R C



